
5. cvičení - výsledky

Příklad 1.

(a) φ′(1) = −1, φ′′(1) = 4 a tečna je y = 1− x.

(b) φ′(0) = 2, φ′′(0) = −14 a tečna je y = 1 + 2x.

(c) φ′(2) = 0, φ′′(2) = 0 a tečna je y = 0.

(d) φ′(π) = 0, φ′′(π) = 0 a tečna je y = π.

(e) φ′(0) = 0, φ′′(0) = −2 a tečna je y = 0.

(f) φ′(0) = −1, φ′′(0) = 2 a tečna je y = −x.

(g) φ′(0) = 0, φ′′(0) = 0 a tečna je y = 0.

(h) φ′(1) = 3
4 , φ

′′(1) = 1
32 a tečna je y = 1 + 3

4(x− 1).

(i) φ′(1) = 1, φ′′(1) = 4 a tečna je y = 1 + 4(x− 1).

(j) φ′(0) = 0, φ′′(0) = 1 a tečna je y = 0.

(k) φ′(0) = −1, φ′′(0) = 4 a tečna je y = −x.

Příklad 2.

(a) Tečná rovina má tvar T (x, y) = 1 + 7
5(y + 2).

(b) Tečná rovina má tvar T (x, y) = 1− (x− 1)− (y − 1).

(c) Tečná rovina má tvar T (x, y) = 1 + (x− 1).

(d) Tečná rovina má tvar T (x, y) = x.

(e) Tečná rovina má tvar T (x, y) = 1 + x+ (y − 1).

(f) Tečná rovina má tvar T (x, y) = 1− 3
2(x− 1).

(g) Tečná rovina má tvar T (x, y) = 3− x− y.

(h) Tečná rovina má tvar T (x, y) = 3− 2x+ y.
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